CHAPTER 6 SIMPLIFICATION

Exercise 6A
Simplify
Page no 10/



Q1

Answer :

Given expression:

=21-12+3x2

=21-4x2 [Performing division)
=21-8 [Performing multiplication]
=13 [Performing subtraction]

Q2

Answer:

Given expression:

=16+8+4-2x3

=16+2-2x3 [Performing division]
=16+2-6 [Performing multiplication]
=18-6 [Performing addition]
=12 [Performing subtraction]

Q3

Answer:

Given expression:
=13-(12-6+3)

=13-(12-2) [Performing division]

=13-10=3

Q4

Answer:

Given expression:
=19-[4 +{16- (12-2)}]
=19 -[4 + {16 - 10}]
=19-[4+6]

=19-10

=0

[Performing subtraction)

[Removing parentheses]
[Removing braces]
[Removing square brackets]




Q5

Answer :

Given expression:

=36-[18-{14-(15-4-2x2)}]

-36-[18-{14-(15-2 x )}] [Performung divisson]
=36-[18-{14-(15- 4)}] [Perfornung multiplication)
=36-[18 - {14 - 11}] [Removing parentheses)
=36-[18 - 3] [Removing braces]
-36-15 [Removing square brackets]
=21

Q6

Answer :

Given expression:
=27-[18-{16-(5- 4—-1)}]

=27-[18-{16-(5-3)} [Removing bar|
=27-[18-{16 -2} [Removing parent heses|
- 27 - [18 - 14| Removing braces|
=97-4 [Removing square brackets|
=213

Answer :

Given expression

=43 +3of5+ $x% - ¢

-4 +3x §+ §xd -3 (Removing of *)
-2+t dxd - o

=¥x3 + gxw — 3 (Rmoﬂng'%')
=g +ixw 4 (Removing * x*)
-4 +4 - § (Remortog * )




Q8

Answer :

Given expression:
- 2 4 3 .12 1 P |
— (— H ?) of T 1 3 X 1 ] 3

:(y)ofg-lgxlé—g (Removing parentheses)
='T°x§%l%xl—:—§ (Removing "of”")
i3
= %Tix 1% == l
=3ixg x5 -3 (Rmmvlng'%‘)
- xi- 4
__%_; ( 'X’)
- . . 4
0 L]
Answer :

The given expression
=73+30f2% +13 +23 — 13

R 2
- Fejudeyado
=2 2 x4 1. 1u_3 (Removing "of")
-B B+ B+ -}
“EE ¥ E 7 (Removmgs)
=5+-‘i'—x—l—‘-l——~; (Removing " +°)
=5+ 2~ 2 (Onsimpllfﬁng)
=Bu3 _ s _4

Q10

Answer :



Q10

Answer :

Given expression:

=54 - {33+1 - 3))
=3-{E+(%-= }
- 7 - {3+(%))
- {1_33 = (Removing parentheses)
- {-}%x%} (Removing * =)
=3 -1 (Removing braces)
. = (Simplifying)
Q11
Answer :
Given expression
=93+ 23 + {a3 - (13 + 1)}
-2 e[pe(z- (e )
-2 e [2 {3 - (D)
-2 [24{n- 2] (Removing parentheses)
-3+ [2 {7
-3 [y ;_;] (Removing braces)
_ » . m+1.1]
1 | 2k
- 4? %%' (Removingsqtm‘ebmch
-2 x2-3 (Removing * )

N1



-2+ 8
-7 [
Q12
=43~ o4
-8 - [
:%_[3_{_
<5-E-&
= 4 [%_{a
-4-[s-4]
- [

d

(Mqumbudm
(Rﬂm'tns'%’)

S/7
(Removing parentheses)

(Removing braces)

(Removlng square bnckm:

\

Q14

Answer :




TH 4 T)
=%‘{?_1(%_ﬁ)}

e i(E - 2)) (Removing bar)

-3 e {E (%)

-2 {2 -1x3) (Removing parentheses)
=%%{%—% (Removing " x ')
=3+ {458

- N2 (Removing braces)
-l p)
Q15

.

-1 1fs- T

=[55G - ) e

- $-[r+{5- 1))

$-[3+{%- 4x3}] (AP I
. -Ts_[;+{§_ }] (Removing * x °)
£-[1{ %) (i o
-%-[3+3]

= $-[2x¥] (M)

=:?5- u{__;l_ (Removing square brackets)




